EE382V-SoC-ICS, Fall 2009 -- HW #3
Assigned: Oct 16", 2009 Due: Nov 13", 2009

Problem: Viterbi Decoder

The following circuit is used to Viterbi encode a bit stream:

INPUT -| FF -| FF e QUTPUT
(k BITS/SEC) {n = 2k SYMBOLSI/SEC)

Determine the most likely input stream given the following received stream:
[11, 10, 10, 00, 11, 11, 01, 11] NOTE: Last two bits are the flushing bits

The following document will help understand what you need to do:
http://www.ece.utexas.edu/—qgerstl/ee382v-ics _f09/lectures/Viterbi.pdf
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